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MATHEMATICS

Total Questions : 47
Time : 3 Hrs. 15 Minutes |

it % TR Rw
Instructions to the candidate :
1.0 e T T TRt W R S )

Candidates are required to give their answers in
their own words as far as practicable.
5. | ot e whe w iR gu e quiw fafee
e T
Figures in the right hand margin indicate full
marks. ‘

3. W U9 a1
All questions are compulsory.

4. ITWT X WUT QAT qUTEWE VIEE-HHT &
&=

While answering the candidate should adhere to
the word limit as far as practicable.

5. TH UYAUH & WEA & fow 15 faee & s
wwa faar T

15 minutes of extra time have been allotted for
the candidates to read the questions.

Total Printed Pages : 16
| Full Marks : 100
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MATHEMATICS

MATHEMATICS .
. . P N 3
s e o of s f o ik
Choose the correct option then the ratio of their radil Wi
1. ’r“f-vlr—g;w,:%ltla'f(-2,313"?“*'1?fa"q,f.i‘°fglmor @ 3:4 (b 2:3 - these
(%) 3 &) 4 © 5:3 (d) noneo
(m ﬁ (=) 5. L sec2@—1 & HAA 3
Distance between the points ( 2, 3 ) and -’\,/IL , @) sin2 0
(-2, 3 ) will be (%) cosec 8 ” ,
(@) 3 (b) 4 C n2g (¥) cot“6.
_ M)~ tan
© 3 (d) 5. LJ/ | -
0. Ak REW W g(x)=x’-x+4 & TIAS sec2-1 is equa 2y
a, B B, A o+ B B HH BT @) cosec? (b} sin
2
(F) -1 (@) 4 © a2 6 (d) cot“6.
(m 1 (= o. 1 3 @ o & A A
T a and B are the zeros of quadratic j R 1 ]fm &,
polynomial g(x)=x?-x+4, then the value - 3d + 500— I
of ¢+ will be
(@) =1 (b) 4 J .
fc) 1 (d) 0. o 2d + 20 "
S gAl F AR 4 : 9 F U T ¥ TRy /
Ereematl =1 SurT ghm
(F) 3:4 (3 2.3 ﬁ)/&za (|) 30
(M 5:3 (&) FH AT 1 (M) 45° () 80° . 1
2 [ Tum over
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. MATHEMATICS 4 Sl Code :|813 MATHEMATICS
| 8. ™ AP. & wum WS o .
If 1 || m, then the value of d will be s : T2 W W s 3,
/ A.P. & @9 o &
I _
3d + 50° () 2,6,9 (@2, 5, 8
M 2,6,10 ™ 2.5 09 |
2d + 20 - ‘_Nhf:]il first term is 2 and common difference
/ is 3 in an A.P., then three terms of the A.P
@ 22 ) 30 will be o
a ° ¢
(c) 45° (d) 8o° @2, 6,9 (b) 2,5,8
_ , 4 (¢} 2,6, 10 d 2.5 9
6. TE EFE A @, a8 P(E)+p(E") T TH &l > ) \ , 5, 9.
: . _SiNn— - i)
Y 1 53 cond mnem
M -1 () H 9w 7w ¥ (%) 2 M
If E is an event, then the value /of m -1 (M 1. 1
P(E)+P(E') will be T
: h N~ — LI
() 2 (b) 1 ¢ value of sinZ - cos 7. will be
© -1 (d) none of these. a) 2 b) O
2./ 3,4,7,2,7,6,7, 9 Tg & Lo @ 1
| , 0 9 RETe %1 See B
(F) 2 (@) 3 N2 j"f -l g
T @o @) grgxar’ @ g
The mode of 3,4, 7,2, 7,6, 7,9 will be 0 2
b) 3 () X nr (e1) 1 1
(a) 2 ( 270 260
€ 7 (d) 9.
| ' 2 | Turn over
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MATHEMATICS 6 Si. Code : | 813
Area of sector of angle 8 will be
0 3 8
(a) 57g %" (b) T
B 2 0 2
(c) 5755 (d) 360 <™

11 T g @ p(3,-4)RF e BT

Distance of P ( 3, - 4 ) from the origin will

De i

12)AP. 2,5, 8, 11, & Q& U ool
g W
9th termm of an AP. 2, 5, 8, 11,
18 ceeieiaannn.

: SR W+

13. &1 e = 2+ . 1
Class mark = upper 11m1t2+ ...............

14, fodt g9 & 9w 55 @ 99 W @ T wwt @i
..... werererace. BRI € 1

The tangents drawn from any external point
on the given circle are .............

15. & gl & /IRA 14 : géaaﬁmﬁﬁ%"am
EECIE T o I 3 1 1
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A8.

A9.

20.

MATHEMATICS

If the ratio of areas of two circles is

tl;.4 : 9, then the ratio of their radii will
e

II‘F'-',J_tanG 1, ?ﬁe~ 3T 1
Hftane=z,mene= ....................

. A% FudE wHeo o —bxta=0 % e
a T BE, T a?+p2= . g-+298 482
f o and B are _the roots of
quadratic equation cxz—bx-i-a:(), then
a2+[52= ; )

R 20=7 €, T sin@=.. ... 1

f =

If 28=2 3 then smBH......:{.'%......

S & F Rl g (4, -5 ) % W @ T
e, 5—- .. BT 1
The value of the ordinate of a point
L4 -5 ) situated in Cartesian plane will
€ i

({E}?W?HHL 10, 16, 22, 28 & 99 3a<

......... b.... g I

The common difference of an AP 4, 10, 16,
22,28 will be .

2 [ Turn over
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Sl. Code : |B13 g MATHEMATICS MATHEMATICS 10 B -
< 08, U% g9 % Gauier &1 &her {6 W foreenl TRy
24, U GO BT ABC @i ST 2a g1 I9F N B T
_ 22 ¥t B 2
oI FI iy | 2 f quadrant-of a circle'whose
) . ; 0 Wk
The side of equilateral triangie ABC is 2a. _ Find t}}e ared ‘.J ggi;an
Find the perpendicular distance from CIFCUMIETEnce 18
vertex. £ 29,-TF et F W 6 9t ¥ 39 fumems 02 il
25. G &g Q ¥ T g W T 1@ H R : mwwmmwmmﬂ—%ﬁﬁ
24 Y FUT Q B Fex W QL 25 G €, o g @l R | 2
forwar 79 T 2 The diameter of a sphere is 6 cm. By
From a point Q the length of tangent to-a melting it a wire of diameter 02 cm 1S
circle is 24 cm and distance of Q from made. Find the length of wire.
circle. ' - *
, . . b N ., o
26. fagatt (0, 0 ) T (36, 15 ) % @9 @I g T &, Al A & A I A 2
7| 5 If sin3A=cos(A~-26°), where 3A is an
Find the distance between points ( 0, 0 ) acute angle, find the value of A.
and {36, 15]. 31. AP.21,18, 15, . FEFH W -818 2 2
2. ko wm Y, AR g A(2,3) B4 k) \_~ Which term of an A.P. 21, 18, 15, ... is 81 ?
-3 ) W@ ¢ | s f
7l C (6, -3 ) W@ €1 2 30 fag #ifF 3+ /5 UF FOREg w@ ) 3
.]fpointsA[Z,SJ,B(i},klandC‘{ﬁ,-S] \/2 ' _
are collinear, then find the value of k. Prove that 3 + J5 isan irrational number. |
2 [ Tyurn over '
[2]
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MATHEMATICS

a3, e R @ B Y@ e E A

34.

& H

3x-—-5y=203ﬁ'€x+2y=3. _ 3
Solve the following pair of linear equations
by substitution method :
3x-5y =20 and x+2y=3. _ ‘
3 207 U UG HA: 4 Td 18 3
Find the quadratic equation, whose
sum and product of zeros -are 4 and

1 respectively.

35 @ TENE T FT 26 § R T G gl 9

F A T E | I A B _ 3
The difference of two numbers 18 ?6 and
one number is three times of other. Find the

numbers.

36, & T FFHE F LE T FX Sl LM [| FG. 3
E

L M
2 T
72 / \5“:#?[
F G

2 [ Turn over
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12 Bl. Code :

Find LE in the given figure where

F

Coe N . : <
37. wmﬁmﬁ%mﬁmﬁ,a‘rﬁﬁaﬁ[-l,?)

- 38.

39.

Tl (4, =3 ) FT T ot YmmEre w5 oo - 3 &
39 § femfaa wwar 3
F‘_in.ci the coordinate of that point, which
divides the line joining the points =1, 7)
and (4, -3 ) in the ratio 2 : 3.

TH T & $h W 3 3 F I I Eol
ATaehal T iy | 3
Find the probability of getting a number
greater than digit 3 in the throw of a dijce.,

% coto =L @ @t {(1+sin0)(1-sin0)
8 (1+cos0)(1-cos)

Wﬁqﬁﬁi 3
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13 MATHEMATICS

If cut9=%, then find the

(1+sin0)(1-sino)
(1+cos0)(1~cosB)"

40, T8g &{ 5 cotl-cosh _ cosecd -1
cot+cos8  cosecO+1°

value of

Prove that cotB ~cosO _ Cosecf-1 _
cotO+cos®  cosecO+1

41. a“tn%m“rqﬁmmmw%.ﬁ‘raﬁmw' e
FY

3
- 11-13 | 13-15 [ 1517
TAa1 Tl GE 7 6 9
17-19 | 1921 | 2123 | 23-25
13 G 5 3

The mean of given data is 18. Then find the
missing frequency :

Class interval 11-13 | 13-15 | 15-17
No. of children 7 6 Q
17-19 19-21 21-23 | 23-25
13 I 5 4
E. | Turn over
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42,

43.

44

45

14 Bl. Code : {813

i R i = witme 12 Ue =gt 18 ¥, &
S Y T T L

3
If median is 12 and mode is 18 of any data,

then find mean of the given data.
B 4 o 9 uF 99 & Seumve @ aEwer
T w, T @ 300 ¥ W @, w9
FISaEUs H1 her ) 5 i) | 5
Find the area of sector having 4 cm radius

and 30° angle at the centre of given circle:
Also find the area of corresponding major

[ sector.
x+2Yy -4 =0T 2x + 4y ~-12 = Q, S
Solve by graphical method :
x+2y —4=0and 2x+ 4y -12=0.

, U AU 'Y a9 O 50 Wex F fEr

T § oafew a7 W e 3 e § v @
T & FW o Fae R & amass s s
30° |1 45° &, A ST @Y N FUE 7 FL 5
| JrerEn

2]
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UF HMR % UK o ¥ wm v % e om
'WWSO“%WW%W—%@#W%

RTER T 3957 =007 60° 3 3Rk S 50 # Fet
&, & o W s W w5

A vertical flag rod and a 50 m high tower
are situated at same horizontal ground, The
angles of depression of the top of the tower
from top and foot of the flag rod are 30° and

45° respectively. Find the height of the flag
rod.

47.

OR
The angle of elevation of the top of building
from the foot of a tower is 30° and the angle -
of elevation of the top of tower from the foot

of building is 60°. If the height of tower is
50 m, then find the height of the building.

wﬁﬂwa‘%ﬁ%ﬁﬂ%wﬁ?@ﬁnﬁ%@
3 T el wt o ) fag W wfaeds e 1
q fog e = g aew o e s

fag =t 5

E] {mmogw

S1. Code :
MATHEMATICS 'MATHEMATICS 16

to one
In a triangle, a line drawn parailgi o o
side to intersect the other two 31.des n e
distinct points, divides the two Sl

same ratio. Prove 11L.

aﬁﬁﬁﬁwﬁﬁ-qﬁ@ﬁ'mmﬁ

5
Frag Bt S
arerat N
5 Qe T A T T 5%% =

' struct
Construct a circle of 3 cm‘ radlus.cg:::llr;
ar? equilateral triangle inside the
OR

i i le
insi uilateral triang
circle inside an €q : gle
Dfm};ez 5 cm which touches the sides of
of s1

triangle.






